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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

4 I 1 I I I |
3500 + EcFZEXp : DOOOOOOOOOOOOOC OOOOOOOOOOOOOOOOOOOOLOOOOC OOOOOOOLOOOOOOOOOOOOLOOOOO LOOOOOOOOOOOOOOOOOOOOOOOO LOOOOO
3000 | 3 ECdef :

—>— water_ec |

2500 ” VVVVVVVVVVVVVVVVVVVVVVVVVVVVVVVVVVVVVVVV T
2000 !
1
1
1500 |
xooooo?x !
1
1000 I
1
500 Warning: col [ EcFgro’, 'EcPltng’'] is missing

0 25 50 75 100 125 150 175



Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’,

"FVIEC

ir—o', "ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r—o',
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Trend plot forP3-11_0
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P3-11

RriE) | EBIATK (FD) | ERE (EH/) | BEBREE (B/R) |[XKS EFF

07:50 283 150.0 2.888 RS ThHA@O7:50 KENFEF (RAfEEER)
08:30 283 150.0 2.888 FE| FiHA@08:30 KENFEF (FKAFLE)
09:30 283 150.0 2.888 FA| 7HA@09:30 ARHIEF (KAEZESF)
10:15 283 150.0 2.888 FA| FHA@10:15 KEFEF (KRAATEREES)
10:55 283 150.0 2.888 FB| FiHA@10:55 KREFEF (KAFEHE)
11:35 283 150.0 2. 888 FA| FiHR@11:35 RHIEF (KAEZRSD)
12:10 283 150.0 2.888 FA| FHA@12:10 KEIEF (KRATERESS)
12:45 283 150.0 2.888 FA| TnHRe12:45 REFEF (REAEREES)
13:20 283 150.0 2. 888 FA| FiHR@13:20 AHIEF (KAEZRKS)
14:00 283 150.0 2. 888 FA| FhHA@14:00 KEFEF (KRS
14:40 283 150.0 2.888 FA| TiHA@14:40 KRHEF CRAZRS)
15:25 283 150.0 2. 888 FH| ThHA@15:25 REIEF (RATREES)
16:15 283 150.0 2. 888 FA| hHA@16:15 KEFEF (KRS
23t 3679.0 (13%) 1950. 0 3Z i REC: 2080.0, PH: 6.0

FEIKRECE (1773.0 vs 3573.0) id 5




FRV (ml plant-1)
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P3-11_0, Day=64 (2025-06-05)
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P3-11

BYiE) | GEBRTIK () | ERE (EA/) | EREE B/ R) | XS ERE

07:20 288 150.0 2.888 el {Ri&e07:20 Bal (REEESE)
08:15 288 150.0 2.888 BE| {Ri&e08:15 Bl (REAEHE)
09:15 288 150.0 2. 888 RS {Ri8e09:15 Bzt (REERSE)
10:10 288 150.0 2.888 el Rige10:10 Bal (REEESE)
11:05 288 150.0 2.888 el Rige11:05 Bz (REAERSE)
12:00 288 150.0 2.888 B Rige12:00 Bz (REAERE)
12:55 288 150.0 2. 888 el Rige12:55 Bal (REEESE)
13:55 288 150.0 2.888 B 1Rige13:55 Bah (REEESER)
14:45 288 150.0 2.888 BS| 1Ri%e14:45 Bz CGREAEESE)
15:40 288 150.0 2.888 S| Ri%e15:40 Bz (REERESR)
=21t 2880.0 (10)%) 1500. 0 3 WUHKEC: 2080.0, PH: 5.9

MERRNER 2 5STREAERSE (187.0 : 153.0), AJEEHF—RZ XA45
ZRIA L PRIERE153. 0 ml.
H#ERECE (1780. 0 vs 3467.0) iH 5



P3-11_0, Day=63 (2025-06—04)
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P3-11

FyiE) | EBIAT (FD) | EME (EA/4R) | BEREE(B/R) | XS ERE

06:35 300 150.0 2. 888 RS {Ri8e06:35 Fz (REAEHE)
07:25 300 150.0 2.888 BE| {Ri&e07:25 Fz (REAEEE)
08:55 300 150.0 2.888 BE| {Ri&e08:55 Fz (REAEHE)
09:50 300 150.0 2. 888 BE| {Ri8009:50 Fz (REAEHE)
10:35 300 150.0 2.888 el 1Ri&e10:35 Fz (REAEEE)
11:20 300 150.0 2.888 el Rige11:20 Fzy (REAEHE)
12:05 300 150.0 2.888 B Rige12:05 Fzy (REAEHE)
12:50 300 150.0 2. 888 Bl Rige12:50 Fz (REEEE)
13:40 300 150.0 2.888 S| Rige13:40 Fzf (REAEHE)
14:25 300 150.0 2.888 BS| 1Ri%e14:25 Fzh GREAMEESE)
15:15 300 150.0 2.888 S| Ri%e15:15 Fzi (REAERSR)
16:05 300 150.0 2.888 BE| Rige16:05 Fz (REAEHE)
=23t 3600.0 (12%) 1800. 0 3ESHKEC: 2080.0, PH: 5.8

MEREHLER 2 5 FEIELRT (184.0 :
ZRIAEBRERE150. 0 ml.

HEEHECE (1860.0 vs 3513.0) 5

150.0), FAEEHT—@ % XA HS




P3-11_0, Day=62 (2025-06-03)

150 I Bt B B E e e B E el B e Eafe——— I I - 3000
VI, VO/%RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
2200 2218 o
100 1 809 2000 ©
291 1300 483 E
50 - 40 - 1000
Warning: lcol [FVI',| "FVO’'] missing 20
0 -0
¢ v —— ME P30.0
= 200 A
JE FRV maxM L 57 5
n
o - 25.0
E 100 1
_ L 22.5
x
o
F20.0
1.0
n
0.8
0.6 -
0.4 1
0.2 A - —1—
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.8 t
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
5 200 4 Bylni‘t:@D64 01:52: ET=1229 Fg=1350.0 Ro=184.0 t o
£ ! L 2000 £
& i e
z 200 - : e—o o o o E
= ! L 1000
100 - I =
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O_nﬁal 1 2 \ — 0
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© . . = — = . . . . -
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= 200 A i =
\ I ~—
s 1 - 1000
= 100 /I TR = a : ._."é
E \ 1 3
0 - . —_ P P P \:x% 0
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< I - 2000 £
8 1 . . = = = 8
= ByWoFVI@D64 01:52: ET=1485 Fg=1800.0 Ro=390.0 e ) e : 4 3 s
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< I E
s 1 - 1000
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E 1 \ 3
1.0 - - a a \x% 0
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m=440, FV0=0 m=485, FV0=0 m=530, FV0=0

24 22.75 A
—&— ME 21.5 - —&— ME —&— ME 23 00 4 —— ME
22. 50 A
23 A
21.0
22 A 22.00 A 22. 50 A
20. 5 A 21.75 A 22. 25 A
21
21. 50 A 29 00 4
20 - 20. 0 A 21. 25 A
T T T T T T T T T 21.75 - T T T
400 600 800 1000 440 445 450 485 490 495 550 555 560
m=605,m FV0=0 m=650,m FV0=0 m=695,m FV0=0 m=735,m FV0=0
125 23. 50
—@— ME —&— ME ’ —@— ME —-&— ME
i 23. 50 A
23.25
.00 23. 25 A
23. 00 A 23. 25 A
.75 1 23. 00 A
22.75 1 23. 00 A
.50 22.75
22.50 A 22 .75 -
95 - 22. 50 A
22. 25 A 22. 50 A
00 22.25 A
T T T 22.00 7 T T T T T T 22.25 - T T T
605 610 615 650 655 660 695 700 705 735 740 745
m=780,m FV0=0 m=830,m FV0=0 m=875,m FV0=0 m=930,m FV0=0
.75 4 23.75 1
—-@— ME —-@— ME 23.75 A —-@— ME 23. 75 A —@— ME
.90 + 23. 50 A
25 1 23.25 1 23, 25 -
23. 25 A
.00 H 23. 00 A 23. 00 A
23. 00 A
.75 4 22.75 A 29 75
22.75 A
.50 22. 50 22. 50 A
N 25 - T T T 22' 25 B T T T 22. 50 L T T T 22' 25 - T T T
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27 _ i
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50 25
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24. 0 A
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.75 22 1 21.5 -
T T T 21 _| T T T T T T 23. 0 L T T T
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P3-11

FyiE) | EBIAT (FD) | EME (EA/4R) | BEREE(B/R) | XS ERE

07:25 288 150.0 2. 888 RS {Ri&e07:25 Fzy (REERSE)
08:10 288 150.0 2.888 sl {Ri&e08:10 Fz (REEEE)
09:20 288 150.0 2.888 RS {Ri&009:20 Fz (REAEHE)
10:05 288 150.0 2. 888 e {Ri&@10:05 Fzy (REAEHE)
10:55 288 150.0 2.888 el {Ri&e10:55 Fz (REEHE)
12:00 288 150.0 2.888 el Rige12:00 Fz (REAEHE)
12:35 288 150.0 2.888 B {Rige12:35 Fz (REAEHE)
13:10 288 150.0 2.888 [Z=| 1®i%e13:10 Fzh (REAEZRESR)
13:55 288 150.0 2.888 [Z=| 1Ri&e13:55 Fzh (REEEE)
14:40 288 150.0 2.888 [Z=| 1Rige14:40 Fzh (REEESE)
15:30 288 150.0 2.888 [Z=| 1Ri%e15:30 F3zh (REEESE)
16:30 288 150.0 2.888 |Z=| 1BRige16:30 Fzh (KAEESE)
29t 3456.0 (12%) 1800. 0 3ESHKEC: 2080.0, PH: 5.8

MEREHLER 2 5 EIEARTF (195.0
ZRIAEBRIERE159. 0 ml.

HEEHECE (1907.0 vs 3883.0) 5

159.0), FAlEEHT—@ L XA HS




P3-11_0, Day=61 (2025-06—02)

150_' ------------------------------------------------------------------------------------- ._3000
VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2706
2200 2213
100 1 - 2000
523
50 1750 052 40 - 1000
o 624
Warning: lcol [FVI',| "FVO’'] missing
0 -0
¢ v —— MmE p30.0
ICZOO- FRV ] ] 1 ] maxM _27-5
S
= L 25.0
E 100 -
- L 22.5
(o'
[
L 20.0
1.0
U
0.8 -
0.6 -
0.4 -
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 B
0.6 -
0.4 -
0.2 -
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.8 N
0.6 -
0.4 -
0.2 -
Warning: lcol ['PHB’,| 'PHC’'] missing
300 i
~ 77 Bylnit!@D64 01:52: ET=1088 Fg=1200.0 Ro=182.0 #3000
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2 200 A ! - 2000
< 1
E 100 - | - . ————0 | .0
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T T T T
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T
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22.5 T T T
785 790 795
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24.
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M_w
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m=730,m FV0=0
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27. 25 A
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—— MW
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m=850,n FV0=0

27.5 A

27.0 A

26.5 -

26.0 -

25.5 -
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P3-11

RyiE) | EBIATK (FD) | ERE (EA/4) | EBREE (B/R) [XKS EFRF

08:30 288 150.0 2.888 Z| {Ri%e08:30 Bz (KREAEHE)
09:30 288 150.0 2.888 [Z=| 1Ri%e09:30 Bzh (FEEESE)
10:30 288 150.0 2.888 [Z=| 1Ri%e10:30 B3h (REEESE)
11:30 288 150.0 2.888 FA| {Ri&e@11:30 Bz (GRAEREE)
12:55 288 150.0 2. 888 FH| 1BRi%e@12:55 Bz (kBERESE)
14:20 288 150.0 2.888 FH| 1Ri%@14:20 B3h (RkEBERSE)
15:50 288 150.0 2.888 FA| {Ri&@15:50 Bz (GRAEREE)
23t]2016.0 (70%) 1050. 0 3ZHKEC: 2080.0, PH: 5.9

MERRNER 2 5STREAERSE (187.0 : 153.0), AJEEHF—RZ XA45
ZRIA L PRIERE153. 0 ml.
#[ERECE (2007. 0 vs 4407.0) i H 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=60 (2025-06—01)

150 A

100 A

50

200 -

150

100 A

50 A

VI, V"RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET i
1200

94 935 gg6t
60

Warning: lcol [FVI',| "FVO’'] missing

-

Vi —_ ME P

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.9

Warning: lcol ['PHB’,| 'PHC’'] missing
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23.0

22.5

22.0

—O—

M_E

600

760 860
m=855,n FV0=0

T
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—o—

M_E

580

5é5 560
m=950,n FV0=0

—0—

M_E

950

9%5 9é0
m=755,n FV0=0

—— MW

755

760 765

m=625, FV0=0

24. 2 -

24.0 -

23. 8

23.6

—o— ME

625

630

635

27 A

26 -

25 -

24 -

23 A

-o— MW

600

760 860
m=855,n FV0=0

T
900

1000

27.5 -

27.0 -

26.5 -

26.0

25.5

25.0

—— MW

855

860

865

m=753, FV0=0

24.2 A

24.0 -

23. 8 A

23.6

23. 4 -

23.2 A

—0—

M_E

755

7é0 765
m=580,n FV0=0

26.0 A

25.5 -

25.0 -

24.5 -

24.0 -

23.5 A

23.0 A

—o—

M_W

580

5é5 5é0
m=950,n FV0=0

27.5 A

27.0 A

26.5 -

26. 0 -

25.5 ~

25.0 -

—— MW

950

955 960




